
MB5056 - Tank Weldment
Qty 1

MB5056-06
Qty 1

Hose Clamp, 1.50" Dia
Qty 3

Hex Bolt, 1/4"-20 x 0.75"
Qty 3

Flat Washer, 1/4"
Qty 6

Nylock Nut, 1/4"-20
Qty 3

Round Head Screw, #10-24 x 0.50"
Qty 2

Hose, 5" Long
Qty 1

motobilt.com | 334-219-2333

MB5056 - Shipping Gladiator Diesel Washer Fluid Tank

REV: 0

2

CONTENTS


